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These are synthesis questions. You need to show how the starting material can be converted into the product(s) shown. You

may use any reactions we have learned. Show all the reagents you need. Show each molecule synthesized along the way
and be sure to pay attention to the regiochemistry and stereochemistry preferences for each reaction because only

predominant products can be used. All the carbon atoms of the product(s) must come from the starting material(s) shown.

]
A S > e Y
Brs
hv
RO
(Strong Base, E2)

o
=
ullllw

racemic
?
NS o e Ve
HBr
RO"
(Strong Base, E2)
Br Br
There are two easy ways to do /k/ :
this transformation - both are o d
equally valid! racemic
W - /\/
H>0, cat. H,SO,
H,S0,

OH H
)\//’\/

racemic

IIIO



All the carbon atoms of the product(s) must come from the starting material(s) shown.
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All the carbon atoms of the product(s) must come from the starting material(s) shown.

/\\\/ L . /ﬁ
Br2
Ho
Lindlar’s Catalyst
Br
/k/ 2.0 NaNH, —
Br l
meso
? l CH
Pt > AT 4
6 5
A New C-C bond
Brs J
hv
L
RO
(Strong Base, EE)j
e NBS . AT | 5
6 4
©=—=—CH,4
Br 5 2
2 A
1.0 NaNH,
Br Br 1) 3.0 NaNH2
= r+
/'\/Br A 2) HyO H—==—CH,



